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A SAESE AN
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M All=K SEAEA
=2 ARISX MBIA et (Cre|: ®M2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXE2sdHu 1,115,036,888 1,180,569, 101 A35,5632,213
= 674,696,585
[ 39,067,150
Jl 5,659,877
== 303,805,475
= 91,817,801
A2 =R SN 25,957,782 18,117,095 7,840,687
= 1,197,159
s 12,298,000
== 12,462,623
A2l =X AH|A ghat 25,615,721 17,847,020 7,768,701
= 1,197,159
= 12,298,000
= 12,120,562
SXHHEA 2= 2 56,550 0 56,550
201 er2 3| 56,550 56,550
01 At2t2lt] 56,550 56,550
OMSARIA JHE AIY 29 28,900
OSX20F HHHA 29 20,000
OEsuz2tgs X& 7,650
SAEAH AIFFA 37,170 37,170
203 =48] 37,170 37,170
03 A=A 2= 37,170 37,170
O=Ngad gH=X 22,770
OSsX2d AR FA 10,800
O=sAEs gz 3,600
KNS TEE MIMEIA EXAIS 10,513,660 10,506,910 6,750
[ 8,873,000
= 1,640,660
308 AFAIEHMSOIE 10,513,660 10,506,910 6,750
[ 8,873,000
= 1,640,660
01 AXEN B2 LS 10,513,660 10,506,910 6,750
OXIS Ata MHI A XHAMS 10,513,660
s 8,873,000
== 1,640,660
%J‘E.‘M@EIIEQIEI 248 & AlISX22E20F 2] X 1,859,000 1,019,500 839,500
307 212+01& 1,104,000 1,019,500 84,500
10 AlRISXAEEE 22X 773,900 723,900 50,000
OsgMa=mNEss2=s 28 X2 100,000
OsgAzl=XEs 28 N3 620,000
OsgAzI=XIAIgS 29 T 8,900




2A:
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ool

=T2SI )}
ASI= X BER
NEESIEENEY

SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMEISXIAL GEHARE 5015 o121Y| 45,000
11 AMEISXAEEXS 330, 100 295,600 34,500
OAMzI=X2 2208 XE S 25,000
OulRt=Al 838 & STAEY 245,100
OMEISXIA AEHHA 7= 60,000
401 AlEHIZL SO 755,000 755,000
01 Al&H| 755,000 755,000
oYzt =F&80 &1 755,000
NSAtl2 8N 28 243 X2 190,500 76,500 114,000
307 elzto| & 24,000 0 24,000
11 AMEISXAIEES 24,000 0 24,000
OXNGSAA 2 ZEAM SAHL SEHat XI& 24,000
308 AXIHMSO0IA 166,500 76,500 90,000
01 HAHHBSEXRS 166,500 76,500 90,000
OXSAteI2HE AN adst 29 X 126,500
OXIGMS SEE oM &5t RIS (0AIAL) 40,000
KNSARI S 2= 363,250 268,570 94,680
307 elztol & 133,770 113,770 20,000
02 2B YA E X 20,000 0 20,000
SS2EUAL MEE X 20,000
11 ARRIS XA E X 113,770 113,770 0
OFSAHE SXNSS A 100,000
OAL2IS XA SEA3A X1 13,770
308 XXM SOIA 229,480 134,800 94,680
01 XN B2 LS 229,480 134,800 94,680
OAL2ISXIAF 2+1=FH| X 44,800
OHCHA| ES 2 UL delas NEH 40,000
OMEIEXIS  JIE A XIZ(H Al 13,000
OMEZE A&t XA 12,000
OAZI=XIel & J18A!l XIZAH (OFAFAL 15,000
O120t7 SA(LIIE) RISA 40,000
ORIty g= X3 15,000
OLSAL Al CHEAE NHIA X2 49,680
NS MIIMHIA EXAIL (XY 2) 340,000 330,000 10,000
= 238,000
= 102,000
308 XXM SO0IH 340,000 330,000 10,000
= 238,000
== 102,000
18 SIS0t oA AS A 340,000 330,000 10,000
OGS NGARIMEIANAT 2 340,000
= 238,000




SN SNSSYUY
Zal: AE=X SEKIR

i

St ARISX MHIA gFaf (Cre|: ®M2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| & 102,000
MBISXAIE SAEL M XA 587,541 553,925 33,616
= 411,278
= 176,263
308 XXM SOIA 587,541 563,925 33,616
= 411,278
=S 176,263
18 SI[2S0tHet & A A5 At 587,541 553,925 33,616
OAZISXIAIE SALAF THHQIE & 587,541
= 411,278
< 176,263
KANSTEE MAMEIA ENAIE R X2l 2 121,665 129,310 NT,645
= 85,165
= 36,500
307 21201 & 121,665 129,310 AT,645
= 85,165
= 36,500
05 2ItRIE = 121,665 129,310 AT,645
OXISASI AHI A S AL 121,665
= 85,165
s 36,500
ARINBIAR 29 7,292,083 4,184,880 3,107,203
= 580,716
& 6,711,367
306 EX= 5,336,363 2,249,160 3,087,203
01 £g= 5,336,363 2,249,160 3,087,203
Osgd SXEH e 450,000
OFHSTHEIEFLEARIMEIAE 2
o 4,886,363
308 AHXIEMSOIH 1,965,720 1,935,720 20,000
= 580,716
[ 1,375,004
18 SIS0t HAS A 1,955,720 1,935,720 20,000
OFEAMaIMbIAE 2Y 1,935,720
= 580,716
= 1,355,004
OMNSXNEREEA AetZdst 20,000
ABISXIAIE SALAF CHAIQIE X2 (KHA) 100,000 100,000 0
308 XXM SO0IH 100,000 100,000
18 SIS0t & AAS A 100,000 100,000
OALRISAIAIE SAHAF THHels X1 100,000
)ﬂ‘%‘ﬂ%g" ABIMBIA SXIAIE (HE0HS U RIZ ALY 126,868 216,625 A89,757




2A:

E M

SN2

A=K SEXE

i

St ARISX MHIA gFaf (Cre|: ®M2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 106,000
=S 20,868
308 XXM SOIA 126,868 216,625 N\89,757
= 106,000
== 20,868
01 XN BSELES 126,868 216,625 N\89,757
OFHNISAHAB AN 126,868
= 106,000
& 20,868
SHER3EIIE 62,600 198,800 136,200
301 EtE NS 62,600 0 62,600
02 AR E2E AT S(FIANS, XLETHE) 62,600 0 62,600
Osdd =387t XA 62,600
Ilg\j)ﬂ%;o MBI MBIA ST (HEALSIAHIA SXE 3,772,834 0 3,772,8%4
At
= 3,081,000
< 691,834
201 eer23| 10,000 0 10,000
[ 7,000
= 3,000
01 AtR2tc|HI 10,000 0 10,000
OZYESSAHHIAANE EE 10,000
[ 7,000
= 3,000
308 XtXIEMSO0IE 3,762,834 0 3,762,834
s 3,074,000
== 688,834
01 XN BSELES 3,752,834 0 3,752,834
OgaSSMEIAAIY 3,394,334
= 2,830,000
< 564,334
OXSTtEe MaIMHIA FHEXl RIEAHY 368,500
[ 239,000
= 119,500
18 SISOt EAS A 10,000 0 10,000
OXNGA=E Ar2IMbIA FHEEX AF XI& 10,000
= 5,000
== 5,000
ASARIEE N3 A 192,000 0 192,000
= 120,000
= 72,000
308 AtXIEMSOIE 192,000 0 192,000
= 120,000




2A:

SN2

NG
Rl ARSI MHIA ghat (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 72,000
01 HASHHBSEEXS 192,000 0 192,000
OLSAt Fg= X2 192,000
= 120,000
= 72,000
ARSI AlE &5 & X3 342,061 270,075 71,986
ARISXIAE RIE 40,000 40,000 0
301 LELEN S 40,000 40,000 0
02 A2 EH LGS (HAAS, NLWE) 40,000 0 40,000
OAtI=IIAE /E 40,000
SEAMEIEX2 Jls2E 69,840 23,000 46,840
201 fer23| 9,840 0 9,840
01 AtR2t2|HI 9,840 0 9,840
SEMASX2 AlE BIRE =& 9,840
403 AXIEHMSAH=201H 60,000 23,000 37,000
01 HXIHHA 22X 60,000 23,000 37,000
O2==XZ& Ald 25 At 20,000
OSSUSSEMNIEX2 HES SA 40,000
MBIZXAE 2R HRHE & XA 232,221 207,075 25,146
307 elzto| & 24,570 22,620 1,950
10 Al SXAAEEHE 22X 24,570 22,620 1,950
OsgZ izl ML & SH3A
] 24,570
308 AHAIEHMSOIE 207,651 184,455 23,196
01 HAHHBSEXS 207,651 184,455 23,196
C=018H SAAL HRIHEHI 2,916
C=0ldl SALL %At XA 1,260
OXNSA2HE SALAL XMIH&H] 36,579
OXG e SAEL ZAZA8 X2 23,688
SeARISXI2 SAL FHZAH K& 49,8%6
OSSAt2= X2 SAHL MM EH| 93,312
EIPIE SRS b b Sy 291,836,987 287,705,583 4,131,404
= 260,006,950
s 2,904,442
s 28,925,595
Jl=de2d 25 2 & 291,836,987 287,705,583 4,131,404
= 260,006,950
[ 2,904,442
= 28,925,595
&A= 230,563,759 230,386,744 177,015
= 208,840,015
s 21,723,744




A SNESIH
Mo 2OD|EMBEY
Bl JIEZMEEE 25 2 X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 230,563,759 0 230,563,759
= 208,840,015
== 21,723,744
01 Al EE A2 (2RNEXMR) 230,563,759 0 230,563,759
OdAI=S 230,563,759
= 208,840,015
S 21,723,744
SHAEHS O 1,948,224 1,678,500 269,724
= 1,772,025
= 176,199
301 2PEN=S 1,948,224 0 1,948,224
= 1,772,025
=S 176,199
01 AR 2EHSFS(RRNEXRTHE) 1,948,224 0 1,948,224
Ot R=0d 1,948,224
= 1,772,025
[ 176,199
WSS (2HEEXR) 588,377 556,907 31,470
308 AtAIEHMSOIE 588,377 556,907 31,470
08 WEJ|20UStEx 588,377 566,907 31,470
Ousz0 588,377
8= 16,548,500 12,944,250 3,604,250
= 14,700,000
=S 1,848,500
201 er23 | 11,000 0 11,000
01 At2teltl 11,000 0 11,000
OJ =M H Al 29 11,000
301 eEtE N = 16,537,500 0 16,537,500
= 14,700,000
= 1,837,500
01 Al EE A S(FRNEXMA) 16,537,500 0 16,537,500
O2UZ=XIXE 16,537,500
= 14,700,000
= 1,837,500
K22 A 23,196,458 21,328,550 1,867,908
= 20,899,420
== 2,297,038
308 AHXIEMSOIH 23,196,458 21,328,550 1,867,908
= 20,899,420
< 2,297,038
01 HAHHBSEEXS 23,196,458 21,328,550 1,867,908
OXEZZAML 23,196,458




2A:
PSR
ool

SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 20,899,420
=S 2,297,038

KHAbell 2t ALK & 53,511 0 53,511
= 44,068
== 9,443

308 AHAIEMSOIE 53,511 0 53,511
[ 44,068
= 9,443

01 HAHHBSEXRS 53,511 0 53,511
OXtAtI 22l AL X1 53,511
[ 44,068
= 9,443

e A2l AL XI&(XHA) 56,659 56,659

308 AHXIEMSOIH 56,659 56,659

01 XN B2 LS 56,659 56,659
OXt& el 22l At X1 (XEA) 56,659

INE DAl fages 4,144,042 3,954,256 189,786
= 3,412,743
= 731,29

308 AtXIEMSOIE 4,144,042 3,954,256 189,786
= 3,412,743
= 731,29

01 XN EES 4,144,042 3,954,256 189,786
OXIG ey 29 4,144,042
= 3,412,743
=S 731,29

sg2AN2dE=2Y 616,471 603,938 12,533
= 431,530
< 184,941

307 gl2to| & 616,471 603,938 12,533
= 431,530
= 184,941

10 Al SXAEEE 22X 616,471 603,938 12,533
OsgZaltgy 29 Xd 616,471
= 431,530
= 184,941

ZesEAsTsMHAE=s8NE 8,371,912 7,841,906 530,006
= 7,945,317
< 426,5%

308 AHXIEMSOIE 8,371,912 7,841,906 530,006
= 7,945,317
< 426,59

01 HAHHBAEEXS 8,371,912 7,841,906 530,006

-
|




A SNESIH
Hu: BOD|EMESEY
Bl JIEZMEEE 25 2 X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEE T =N EEES=bEp
QX S%) 8,371,912
= 7,945,317
[ 426,59
NATESE AMSIMEIA SXHARS (OFARE) 1,239,143 1,345,958 106,815
[ 1,051,000
= 188,143
308 AHXIHMSO0IA 1,239,143 1,345,958 106,815
= 1,051,000
= 188,143
01 AXNB 2 LS 1,239,143 1,345,958 /106,815
OJtartg gz A& 1,239,143
= 1,051,000
== 188,143
C=0EH2Y 74,299 71,460 2,839
308 AXIHSOIA 74,299 70,460 3,839
01 HAHHBSEEXS 74,29 70,460 3,839
Ok=¢l &H 29 & 74,29
ARAIZRIMERHDHE (A2 22 S 0{2t2IA) 1,062,590 1,003,439 49,151
= 889,082
= 163,508
308 XX HMSO0IA 1,062,590 1,003,439 49,151
s 889,082
s 163,508
01 HXESHH B E2ES 1,062,590 1,003,439 49,151
OAlZ 2230 22|AL Q12| 1,062,590
= 889,082
[ 163,508
SEAtelZt2lAL 1248 X 1,196,380 1,167,027 29,353
[ 920,292
= 276,088
308 XXM SOIH 1,196,380 1,167,027 29,353
= 920,292
S 276,088
01 AXNBEES 1,196,380 1,167,027 29,353
OSESAtIZCIAL 21| X1 1,196,380
= 920,292
== 276,088
ANZ2T SEAld2el X 112,500 142,500 30,000
= 112,500
308 XXM SO0IH 112,500 142,500 230,000
= 112,500
01 X SHHEAEXS 112,500 142,500 230,000




2A:

M 20| EMESE
Bl JIEZMEEE 25 2 X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAlZ2+ SeAtdl2tel XI& 112,500
= 112,500
SHS Y54 SEAMHA X 1,963,000 1,466,000 497,000
= 1,891,000
=S 72,000
308 XXM SOIH 1,963,000 1,466,000 497,000
= 1,891,000
< 72,000
01 MRHHBAEES 1,963,000 1,466,000 497,000
OsHs AEE SSAtlA X 1,891,000
= 1,891,000
Osds d=7IsXad 243t X2 25,000
OHCAl =TI 2dat Al 35,000
Od=JIsAEH gdat A& At 12,000
S #HHIO0IN 2 2,400 2,400 0
= 2,400
308 AHAIEMSOIE 2,400 2,400 0
= 2,400
01 XN B2 LS 2,400 2,400 0
O8&++IHHI0I M 2 2,400
= 2,400
NeAtzi28H = & 23z 28 N 108,762 94,565 14,197
201 Ler23 | 20,625 10,625 10,000
01 At2t2ltl 20,625 10,625 10,000
OXGAI23HE & ?(23 29 20,625
308 AXIHSOIA 88,137 83,940 4,197
01 XN BSELES 88,137 83,940 4,197
og=sJ|IsAAt 2SN 88,137
NELH TR =& 37,776,178 30,432,718 1,656,540
= 16,335,930
[ 3,305,640
Il 870,530
== 16,710,254
= 553,824
MEL HE =8 37,646,419 39,101,959 1,455,540
= 16,335,930
[ 3,305,640
Il 870,530
== 16,580,495
= 553,824
Mg &0 SLHIESA2 46,458 48,190 A1,732
= 41,165




SN SNLEZUDL
M MEA UER =D
SRl NEL TR A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 5,293
301 EtE NS 46,458 0 46,458
2 41,165
= 5,293
01 Al E2E AL S(FRDEXMA) 46,458 0 46,458
O0 & SAHIEXA 46,458
= 41,165
= 5,293
NEL =5 AAz2 39,530 39,500 30
= 19,765
< 19,765
307 el2tol & 39,530 39,500 30
= 19,765
& 19,765
02 QItASAIEE X 39,530 39,500 30
OMEL =5 Al2IHUze 2E 39,530
2 19,765
= 19,765
NEA 22 0IAHE ALY 40,000 150,000 £ 110,000
308 XtXIEMSO0IE 40,000 0 40,000
18 SIS0t 4 A A A 40,000 0 40,000
Olscet s &gy g2 40,000
S0t A Alglatd &4 4,550 103,650 299,100
307 elzto| & 4,550 3,650 900
08 OIXt2d= 4,550 3,650 900
Ogite 2=zl ®=z Olk X2 4,550
HYRS XIS (HEAIY) 2,278,500 2,274,073 4,427
308 AtXIEHMSOIE 2,278,500 2,274,073 4,427
01 XN B EES 2,278,500 2,274,073 4,427
OH=RR Al=H| X2 2,278,500
HURE XA 361,277 61,277 300,000
308 XtXIEMSO0IE 361,277 61,277 300,000
01 XN BELES 361,277 61,277 300,000
OH=F szl X2 61,277
OfY HYRF A=l X 300,000
SHEUALOIE SAF K 2totatel 213,000 213,000 0
Il 142,000
= 71,000
308 AFAIEHMSOIE 213,000 213,000 0
7l 142,000
= 71,000
01 RSN EES 213,000 213,000 0




SN SNLEZUDL
M MEA UER =D
SRl NEL TR A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEHLEUAIOIY HAF & BH0F2HL 213,000
Jl 142,000
== 71,000
0l=0t & A& &0l&0 2 ZH| X2 178,500 178,500 0
Il 119,000
= 59,500
308 AtXIEHMSOIE 178,500 178,500 0
Jl 119,000
= 59,500
01 HXSHH B EES 178,500 178,500 0
OO0I=0t & A™-0la0r 2=H| XI& 178,500
Jl 119,000
=S 59,500
HE 2o Ms 13,500 13,500 0
) 9,000
S 4,500
308 AtXIEMSOIE 13,500 13,500 0
Il 9,000
= 4,500
01 AXEH B EES 13,500 13,500 0
O’ Mot & 2I1E 13,500
7l 9,000
= 4,500
AR A0 A2 22| KA (HEALY) 7,013,805 7,013,805 0
308 XXM SOIA 7,013,805 7,013,805
01 HXEHH B EES 7,013,805 7,013,805
OAtRAIH0F AZ2e] KEA 7,013,805
t2xe|ER0| =20REs N 551,610 551,610 0
308 AtXIEMSOIE 551,610 551,610
01 HASHHBSEXS 551,610 551,610
Ott=xe|=R0| 2228 A 551,610
FAEME JASEN ozl A1 19,875 38,100 18,225
7l 13,250
= 6,625
308 AXIHMSO0IA 19,875 38,100 A18,225
Il 13,250
== 6.625
01 XN BSELES 19,875 38,100 18,225
OFAEAR AEL OlZH| XNH 19,875
) 13,250
< 6,625
DASEEMR=Hl KA 591,000 249,000 342,000
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A SNESIH L
I HEA R =X
e MEA O =T EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 394,000
=S 197,000
308 XtXIEMSO0IH 591,000 249,000 342,000
Jl 394,000
== 197,000
01 XN BSELES 591,000 249,000 342,000
OLEYME o=Hl K& 591,000
) 394,000
& 197,000
SEF X XZ A 1,275,000 1,275,000 0
[ 850,000
= 425,000
308 XX HMSO0IA 1,275,000 1,275,000 0
= 850,000
=S 425,000
01 XN B2 LS 1,275,000 1,275,000 0
OFeHF R RI2AS (2fehAHRe1nt) 150,000
= 100,000
[ 50,000
OZSHFAX XFAS (ZLraFel) 1,125,000
[ 750,000
= 375,000
P & =MES X2 2,634,000 2,634,000 0
= 1,756,000
=S 878,000
308 AHXIEMSOIE 2,634,000 2,634,000 0
= 1,756,000
< 878,000
01 XN BSEES 2,634,000 2,634,000 0
OJIN#A & ZHEs XN 2,634,000
= 1,756,000
= 878,000
SSNEXCE HE ¥ 2 A 450,000 3,300,000 A2,850,000
308 XXM SOIH 450,000 300,000 150,000
01 AXEHB 2 LS 450,000 300,000 150,000
Os=g8d S8d=xcd 28 N2 450,000
SXEA 2x01E x| 49,500 49,230 270
Jl 33,000
< 16,500
308 AHXIEMSOIE 49,500 49,230 270
) 33,000
< 16,500
01 HAHHBAEEXS 49,500 49,230 270




A SNESIH L
I HEA R =X
Rl MELH T =& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OR2X=A 2x01 K& 49,500
Jl 33,000
== 16,500
CHEN =3 Atg 2,734,500 2,241,759 492,741
[ 1,823,000
= 911,500
308 AtXIEHMSOIE 2,734,500 2,220,759 513,741
[ 1,823,000
= 911,500
01 AX N BEES 2,734,500 2,220,759 513,741
OtgnEsdE bl X 2,734,500
= 1,823,000
=S 911,500
CreNEsde 288 X3 426,000 351,000 75,000
= 284,000
& 142,000
308 AtXIEMSOIE 426,000 351,000 75,000
[ 284,000
= 142,000
01 AXEH B EES 426,000 351,000 75,000
Otignss4dH 244l X 426,000
[ 284,000
= 142,000
CletNssdH £Xdl X 287,500 574,000 A\.286,500
= 225,000
[ 62,500
403 MR HHMSAHE01H 287,500 574,000 286,500
[ 225,000
== 62,500
01 A= E2XE 287,500 574,000 286,500
Ootgn=sHe £X8l X 287,500
[ 225,000
= 62,500
CIENESSHE ZXH XA (SEs) 120,000 0 120,000
s 100,000
== 20,000
403 AXIEHMSAH=0lH 120,000 0 120,000
= 100,000
[ 20,000
01 A= 2L 120,000 0 120,000
OotaMEssHE &XiHl X&(S5est) 120,000
[ 100,000
= 20,000




SN SNLEZUDL
M MEA UER =D
SRl NEL TR A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CENESdE 2EAI2t 2 K& 35,460 0 36,460
= 23,640
== 11,820
308 AIXIHHSOIA 35,460 0 35,460
= 23,640
< 11,820
01 HASHHBAEEXS 35,460 0 35,460
OUigh=sdH 8SAI2 A2 K& 36,460
[ 23,640
= 11,820
SHE =2SL=SAE 29 916,726 1,002,968 N8B, 242
& 616,726
= 300,000
308 XXM SOl 916,726 1,002,968 N86,242
= 616,726
= 300,000
01 XN BSELES 916,726 1,002,968 N\86,242
Osgd 235d==H =24 102,326
Osdd 282 lisgu= == A& 800,000
== 500,000
£ 300,000
Os=d =SSsud HY 29 14,400
sStusEsH elAdl X 181,824 185,282 A3,458
= 181,824
308 AHXIHMS0IA 181,824 185,282 A3,458
= 181,824
01 HAHHBSEEXS 181,824 185,282 A3,458
Ostu=sH 228 XI& 181,824
= 181,824
StUESH JIEt2Ed] X 72,000 84,000 A12,000
= 72,000
308 XXM SOIA 72,000 84,000 A12,000
= 72,000
01 HASHHBSEXS 72,000 84,000 A12,000
OstssH JIEk2Ed] X 72,000
= 72,000
CrENESHE SAHA MM 74,184 48,240 25,944
308 AXIHS0IA 74,184 48,240 25,944
01 HAHHBSEEXS 74,184 48,240 25,944
OUESNSSHH SAHA HHZAHl XA 26,376
OUESNESSHE SAHA MMl K& 47,808
Rotg olgd X 16,297,700 16,297,700 0
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A SNESIH L
I HEA R =X
Rl MELH T =& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 14,519,000
=S 1,778,700
308 XtXIEMSO0IH 16,297,700 16,297,700 0
= 14,519,000
== 1,778,700
01 XN BSELES 16,297,700 16,297,700 0
oxgrg olgd X 16,297,700
= 14,519,000
& 1,778,700
4O =1 A2 AIBAE 240,420 112,800 127,620
Jl 160,280
= 80,140
308 XtXIEMSO0IH 240,420 112,800 127,620
Jl 160,280
=S 80,140
01 XN B2 LS 240,420 112,800 127,620
QAo =) AZ2c| AIHAI 240,420
Jl 160,280
[ 80,140
STELr 232 Ots=8 SENAH 28 500,000 0 500,000
308 AtXIEMSOIE 500,000 0 500,000
18 SIS 3 AS A 500,000 0 500,000
OBEYE 22 OlSSE SSNAT 2
o 500,000
CHRHA b= X 129,759 330,759 A201,000
CHAA & &= Ad2ie] XIS 129,759 129,759 0
308 XXM SOIA 129,759 129,759 0
01 XN BSELES 129,759 129,759 0
OLHHA & at= Azzte| X3 129,759
25 -1 NE 506,093,598 550,920,650 N44,827,062
= 292,333,289
= 888,000
S 131,536,789
= 81,335,520
70t ESMHIA DI &= 506,093,598 550,920,650 A44,827,062
= 292,333,289
[ 888,000
= 131,536,789
= 81,335,520
oelold &= 3,960,000 3,345,000 615,000
= 2,640,000
= 1,320,000
403 AXIEHMSAH=201H 3,960,000 3,345,000 615,000




2A:

=XRSHMY

LT o™

Hu: 9% 0lE X
el ER0F E:AHIA JE 25 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,640,000
=S 1,320,000
01 A2 2L 3,960,000 3,345,000 615,000
Oooeloly &= 3,960,000
= 2,640,000
< 1,320,000
oeloleldsisd =29 1,648,000 1,600,000 48,000
307 @I2t01 & 1,648,000 1,600,000 48,000
05 git?(& = 1,648,000 1,600,000 48,000
ooelolgldssd =29 1,648,000
25 SFAEME X 37,348,000 37,034,755 313,245
308 XXM SOIA 36,687,000 36,597,000 90,000
01 AXH B2 LS 36,687,000 36,597,000 90,000
28 SHAMAY NY(XHESE ) 36,597,000
O0el0ld used 2234 A& 90,000
403 MR HHMSAHE01H 661,000 437,755 223,245
01 MHXIHHA 22 661,000 437,755 223,245
OO0lgloly SZME(OIsEZ 8) 661,000
Olgl0lE W& Efu=s 120,000 120,000 0
= 60,000
= 60,000
307 212+01& 120,000 120,000 0
= 60,000
=S 60,000
05 2ItRIE = 120,000 120,000 0
OEFuid 2415 120,000
= 60,000
[ 60,000
2ROl AL X 20,000 0 20,000
308 AtXIEHMSOIE 20,000 20,000
01 HAHHBHEERS 20,000 20,000
O0glold uaa 208 X& 20,000
SESROISSAAHEH 23 631,900 631,260 640
307 212+01& 631,900 631,260 640
05 21t = 631,900 631,260 640
OSg=S0ERJdE gtz 33,400
O F0tetE gAY 283,500
Oosgoopiss 24 315,000
NESOISSXALEH 2 (HEALY) 573,860 546,534 27,326
307 21201 & 573,860 546,534 27,326
05 git?(&= 573,860 546,534 27,326
OSE=0IESE XN 29 573,860

_16_




SA: =X2SIHD
Hu: 98 01E

el S=0F EFAHIA JlEE EF EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
NLSOISEXHHE 2 OIELSXAAL) (HEAL 39,000 39,000 0
2)
308 AXIHSOIA 39,000 39,000
01 XN BSELS 39,000 39,000
OB SAY T 39,000
=Z BSO0ISSHE 29 NA(01S4 =004 2 172,130 152,000 20,130
%)
= 103,280
= 68,850
307 212+01& 172,130 152,000 20,130
= 103,280
=S 68,850
11 AMEISXAEEES 172,130 0 172,130
O0lsAl =0lud 23 172,130
= 103,280
< 68,850
AZER 2FAHE K2 1,061,400 986,802 74,598
= 803,000
= 258,400
307 21201 & 50,000 48,576 1,424
= 25,000
= 25,000
11 AMEISXAEEES 50,000 0 50,000
OAIZEHl EFAIE 2teldl2 2¢ 50,000
= 25,000
s 25,000
308 AXIMSO0IA 1,011,400 938,226 73,174
= 778,000
& 233,400
01 HASHHBSEXS 1,011,400 938,226 73,174
OAIZHHI EsAtE X1 1,011,400
= 778,000
= 233,400
oelold e 1,332,000 346,803 985,197
s 888,000
s 444,000
403 MR SHHMSAH=01H 1,332,000 346,803 985,197
= 888,000
[ 444,000
01 A= 2L 1,332,000 346,803 985,197
OG0l JIs2EZ 1,332,000
[ 888,000
= 444,000




A BleSgan

RZH CIJE XY
e %TrOP ESANEIA DI &S (CH9: /M)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
SFuAE el2dl X 38,479,430 61,127,557 N22,648,127
= 25,891,509
== 12,587,921
308 AHXIEMSOIE 38,479,430 61,127,557 A22,648,127
= 25,891,509
< 12,587,921
01 X SHHNBAEXS 38,479,430 61,127,557 N22,648,127
OZRXA0E0I™ 21| 38,479,430
= 25,891,509
= 12,587,921
IR0IESE K& 156,410,030 172,701,975 16,291,945
= 125,499,000
=S 30,911,030
308 AHXIEMSOIH 156,410,030 172,701,975 16,291,945
= 125,499,000
< 30,911,030
01 HHHBAEES 156,410,030 172,701,975 N16,291,945
Og=0t E58 X& 156,410,030
= 125,499,000
= 30,911,030
gisE 22X 13,500 12,616 884
& 4,500
= 9,000
308 XtXIEMSO0IH 13,500 12,616 884
= 4,500
= 9,000
01 HXHH B E2ES 13,500 12,616 884
ogu= 25X 13,500
= 4,500
= 9,000
HEesg N 4,581,887 9,513,780 N4,931,893
= 3,668,000
= 913,887
308 AHXIHMSO0IA 4,581,887 9,513,780 A4,931,893
= 3,668,000
= 913,887
01 AXNB 2 LS 4,581,887 9,513,780 N\4,931,893
oid gs=+g X3 4,581,887
= 3,668,000
== 913,887
STEOE0IE XIA(HEALL) 2,852,846 2,852,846
308 AHAIEMSOIE 2,852,846 2,852,846
01 HAHHBAEEXS 2,852,846 2,852,846




2N SXNSSTMY
M 8% J1E X

el S=0F EFAHIA JlEE EF (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Ooz3goolE xg 2,852,846
S MM XJ 17,214,473 18,216,913 1,002,440
= 11,626,000
& 5,588,473
308 AtXIEMSOIE 17,214,473 18,216,913 1,002,440
= 11,626,000
= 5,588,473
01 XN B EES 17,214,473 18,216,913 /1,002,440
OuAIZREZ & 13,769,112
= 9,307,000
= 4,462,112
OuABEAZE XIHHI 107,815
= 73,000
[ 34,815
OsHESZSDA EE822+E 3,337,546
= 2,246,000
= 1,091,546
oelold 2EXE 2,242,883 2,284,206 41,323
= 1,509,000
=S 733,883
308 XXM SOIH 2,242,883 2,284,206 AN41,323
= 1,509,000
< 733,883
01 XN BSELES 2,242,883 2,284,206 A41,323
O0i2l0lE WA = 689,240
= 466,000
= 223,240
OO0l xtet=24| 1,344,409
= 903,000
= 441,409
Os0ELN geloelod X 209,234
= 140,000
< 69,234
el 252 X 81,326,520 113,641,065 N32,314,545
= 81,326,520
308 AHXIEMSOIE 81,326,520 113,641,065 A32,314,545
= 81,326,520
01 RSN EES 81,326,520 113,641,065 A32,314,545
O=cltd 288 XNZ 81,326,520
= 81,326,520
2250 A 123,186,885 91,655,591 31,531,294
= 98,582,500
= 24,604,385




SN =XPSTYMIY
B 25 J1E X
SRl R0 EEMHIA JlB 25

SA - ZE . BR() - HRAR - BES of v G o HIDE2

308 XXM SOIH 123,186,885 91,655,591 31,531,294
= 98,582,500
== 24,604,385

01 XN BSELS 123,186,885 91,655,591 31,531,294
OR2z50 X2 123,186,885
= 98,582,500
S 24,604,385

SXRWAF, HHILAF XIZ 32,878,854 31,364,966 1,513,888
= 21,951,000
= 10,927,8%4

307 elztol & 1,493,500 1,450,000 43,500
= 746,750
=S 746,750

11 AMEISXAEEXS 1,493,500 0 1,493,500
OUHMIwWAL e124H| 1,493,500
= 746,750
[ 746,750

308 AtXIEMSOIE 31,385,354 29,914,966 1,470,388
= 21,204,250
= 10,181,104

01 AXEHBSEES 31,385,354 29,914,966 1,470,388
OAlZ UAEIAL Q1 24H] 1,992,480
= 1,342,250
= 650,230
OEXZ1A XA 29,392,874
= 19,862,000
[ 9,530,874

(=t NER 192,028,485 193,272,074 1,243,589
= 104,823,257
[ 19,569,767
Jl 4,789,347
< 52,917,657
= 9,928,457

Ols3ly Z2RE =4l 192,028,485 193,272,074 1,243,589
= 104,823,257
[ 19,569,767
Il 4,789,347
== 52,917,657
= 9,928,457

ots+g XI& 108,044,635 116,073,261 A8,028,626
= 90,732,331
= 17,312,304

301 EtE NS 108,044,635 0 108,044,635




2A:

X XH -
o=

=2 SHMD)

ool

ors=EXsd

&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 90,732,331
=S 17,312,304

01 A2 HSHS(RNEERTH) 108,044,635 0 108,044,635
O0ts+=g380ia 108,044,635
= 90,732,331
< 17,312,304

ANSOISEsd=z) |2 23 4,362,678 3,178,804 1,183,874
= 2,152,785
= 2,209,893

307 @12t0| & 4,362,678 3,178,804 1,183,874
= 2,152,785
= 2,209,893

10 Al2IS XA EEE 22X 4,362,678 3,178,804 1,183,874
OXgotsEsd=z)|2 2 4,362,678
= 2,152,785
s 2,209,893

SttHuloiotsa s 2ad], 2], AtgHI 2,429,350 2,324,378 104,972
= 1,388, 184
& 1,041,166

308 AtAIEHMSOIE 2,429,350 2,324,378 104,972
= 1,388,184
= 1,041,166

01 AXHH B EES 2,429,350 2,324,378 104,972
Ostiuloiotsas 29 X 2,429,350
= 1,388, 184
= 1,041,166

LES0ts 188 24 2,273,861 2,080,077 193,784
= 1,515,907
& 757,954

308 AXIHS0IA 2,213,861 2,080,077 193,784
= 1,515,907
= 757,954

01 HAHHBAEXS 2,273,861 2,080,077 193,784
OeEa0ls 088 24 2,273,861
= 1,515,907
= 757,954

AR SotS AERIE 86,505 130,074 A\43,569
= 76,650
== 9.8%

308 AHXIEMSOIH 86,505 130,074 A43,569
= 76,650
[ 9,855

01 HAHHBSEEXS 86,505 130,074 A\43,569
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2A:

X XH -
o=

=2 SHMD)

ool

ors=EXsd

&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

O3AEXNSOtS NHERE 86,505
= 76,650
== 9.,8%

AEEHIEE N8 A 2,177,520 2,088,768 88,752
= 2,025,600
= 151,920

301 EtE NS 2,177,520 0 2,177,520
= 2,025,600
= 151,920

01 ARSI 2E AL S(SRNEEME) 2,177,520 0 2,177,520
OXE=HIEE THe+=g X 2,177,520
= 2,025,600
=S 151,920

KNEO0tSHEH AEXRY 29 172,807 168,000 4,807
= 51,842
S 120,965

307 @120l & 172,807 168,000 4,807
[ 51,842
= 120,965

05 git?(& = 172,807 168,000 4,807
OXIS0tsHIE AMEXJE 2 172,807
= 51,842
= 120,965

KS0tsHE 2lAH| K& 13,970,872 11,815,700 2,155,172
= 10,746,825
& 3,224,047

308 AXIHSOIA 13,970,872 11,815,700 2,155,172
[ 10,746,825
= 3,224,047

01 HASHHBSEXS 13,970,872 11,815,700 2,155,172
OXE0tsHE 212l X3 13,970,872
[ 10,746,825
= 3,224,047

KNS 0otsHE 249Hl K& 2,853,412 2,892,500 A39,088
s 2,194,932
== 658,480

308 AHXIEMSOIH 2,853,412 2,892,500 A39,088
= 2,194,932
< 658,480

01 HAHHBAEES 2,853,412 2,892,500 A\39,088
OXN<otsHE =gl Xd 2,853,412
[ 2,194,932
= 658,480

N




2A:

X ZH -
o=

=T2SI )}
T

o9l OlSEY ZRME EX (cre:xigl)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Sdg XA0tsdEH FIHX2 341,640 436,332 A9A4,692
= 262,800
== 78,840

308 AHXIEMSOIE 341,640 436,332 A9A4,692
= 262,800
< 78,840

01 HASHHBAEEXS 341,640 436,332 A%A,692
OSdE NgotsHt =03 341,640
[ 262,800
= 78,840

Ots= XA IHAXIR 1,938,916 2,234,998 N296,082
= 1,491,474
=S 447,442

308 AHXIEMSOIH 1,938,916 2,234,998 N296,082
= 1,491,474
< 447,442

01 HHHBAEES 1,938,916 2,234,998 N29%6,082
OO0ts=X A IHA K& 1,938,916
[ 1,491,474
= 447,442

FHAAE OlsSEAEIA X2 3,772,843 3,741,774 31,069
[ 3,500,622
= 263,221

308 XtXIEMSO0IH 3,772,843 3,741,774 31,069
s 3,509,622
S 263,221

01 HXHH B E2ES 3,772,843 3,741,774 31,069

OFAHE OtsSSEMHIA X (EBAERE

) 3,772,843
= 3,509,622
S 263,221

Ols25d8ed =2 1,420,039 1,391,236 28,803
[ 1,312,272
= 107,767

308 XtXIEMSO0IE 1,420,039 1,391,236 28,803
= 1,312,272
=S 107,767

01 XN BSELES 1,420,039 1,391,236 28,803
O0ts23dgRa 22| 1,420,039
= 1,312,272
[ 107,767

LL0tSIHERIE 1,455,118 1,427,602 27,516
Jl 1,289,347

_23_




2A:

=2 SHMD)

ool

g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 165,771
301 EtE NS 1,420,59 0 1,420,59
Il 1,258,757
= 161,838
01 Al E2E AL S(FRDEXMA) 1,420,595 0 1,420,595
gAots s=+E N2 1,302,552
7l 1,154,160
= 148,392
O ots d52L3 AE 94,343
Jl 83,597
< 10,746
Oogg=sts A& 23,700
Il 21,000
= 2,700
308 XXM SOIA 34,523 1,427,602 1,393,079
Jl 30,590
=S 3,933
01 XN B2 LS 34,523 1,427,602 21,398,079
Oge=c2t 24 XI& 3,871
Jl 3,430
S 441
oggtlE X& 30,652
Il 27,160
= 3,492
2 /AH0s delxlg K& 28,600 28,600 0
= 20,020
=S 8,580
307 lztol & 28,600 28,600 0
= 20,020
< 8,580
11 AMEISXAIEEXS 28,600 28,600 0
OgetEAE0ls &elilz K& 28,600
= 20,020
== 8,580
IS ?IE0ts doli2gz X2 44,320 42,969 1,351
= 31,024
= 13,296
201 Ler23 | 44,320 42,969 1,351
= 31,024
s 13,296
2 35234l 44,320 42,969 1,351
OJtgRAS0ts dol2gs N 44,320
= 31,024
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2A:

SN2

g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| & 13,296
d20ts2=H A& 170,640 215,670 A\45,030
= 151,200
= 19,440
301 2eEN= 170,640 0 170,640
= 161,200
=S 19,440
01 AlRIE2EH 2GS (RNEETHE) 170,640 0 170,640
OdENEYAE dE0ISEsH N 170,640
= 151,200
< 19,440
Or=sE378l Xz 7,900 7,900 0
= 7,000
= 900
301 EtE NS 7,900 0 7,900
= 7,000
= 900
01 AR 2EHSHS(RDNEXRTHE) 7,900 0 7,900
Ootss=-dl A& 7,900
= 7,000
s 900
OLSEEXAT MASHMBA2E 6,580,732 2,855,210 3,725,522
= 5,831,028
& 749,704
308 XM SOIE 6,580,732 2,855,210 3,725,522
= 5,831,028
= 749,704
01 AX N B EES 6,580,732 2,855,210 3,725,522
OOtS LA R RXSHHBHEE 6,580,732
= 5,831,028
= 749,704
ss EZES=Y a4l X& 7,428,457 5,590,000 1,838,457
= 7,428,457
308 AHXIHMSO0IA 7,428,457 5,590,000 1,838,457
= 7,428,457
01 HRHHBSEELS 7,428,457 5,590,000 1,838,457
OoshIEs Ed&E/ SAH A& 7,428,457
= 7,428,457
d=Z7I85+E 12,472,950 16,389,400 A2,916,450
201 er2 3| 15,000 15,000 0
01 AtR2telHl 15,000 15,000 0
og=Jls+g =24 15,000

_25_
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2A:

SN2

g OlIs=Asd
el Ols3sly ZZ2RE R4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 XN B2 LS 185,322 172,993 12,329
O0ts ABSa & XSS XA 185,322
OlSSAAIE & D12 - B 28 NE 4,192,736 4,317,473 N124,737
307 el2to| & 779,327 757,414 21,913
03 2RI HEE2SHIE X 269,341 262,720 6,621
ozgla 2g X 269,341
10 Al SXAEEE 22X 509,986 494,694 16,292
OSEIIEASAENH 238 K& 509,986
308 XXM SOIA 3,308,409 3,308,409
01 AXNBEES 3,308,409 3,308,409
OOtS&=AIE 2gH| X2 3,308,409
403 MR HHMSAH=01H 105,000 239,500 A134,500
01 AXISHHA 22 % 105,000 239,500 134,500
OXNSOtSHE WSIIA & AIEELSA 51,000
OXG0tSHE JIsE22AE 10,000
OO0lsSEXNAIE JIsEZAd 44,000
OlsS=EXIAIE SAHAL K& & A3t 15,300 721,697 AT706,397
307 elztol & 15,300 146,970 A131,670
11 AMEISXAEEE 16,300 15,300 0
OXNS0ISHE SAHL W= A& 15,300
OlS=XIAIE SAHAF Q124H] =0t XI& 1,733,708 1,733,708
308 AXIMSO0IA 1,733,708 1,733,708
01 HAHHBSEEXS 1,733,708 1,733,708
OOts=XAE(O8E € XA0SHH)S
AERE @12AH| =IHAIE 1,733,708
OlsEs 38 XY Hal 141,450 141,450
201 223 4,250 4,250
01 AtR2t2lt] 4,250 4,250
Oots=XA2a & 82M 22 4,250
204 APt AH| 1,200 1,200
2 SEF3H 1,200 1,200
OSsyg3b(otsstitisyl) 1,200
307 gl2to| & 136,000 136,000
1 AMISXAIEEXS 136,000 136,000
OstHUlohots I8 E delXlg & Atdl
2l 136,000
OlS=XAIE SAHL X200 1,180,905 260,755 920,150
307 212+01& 247,110 58,255 188,855
10 AlRIS XA EEE 22X 247,110 58,255 188,855
OO0IS=XAIE SALL HHZAH| KR (E) 89,880
OO0IS=XIAIE SA MM Al XA (E) 157,230
308 AXIHS0IA 933,79 202,500 731,295

_27_




2A:

X XH -
o=

=2 SHMD)

ool

ors=EXsd

&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 XN B2 LS 933,79 202,500 731,295
OOtSEXIAIE SAIXE ZHZAH| KR (Al
z) 286,524
OOISEXIAIE SALXF HMHAH X2 (Al
) 647,271
25EZ0ts HEXNE A 2= 970,398 286,318 684,080
= 701,976
= 268,422
307 lztol & 970,398 286,318 684,080
= 701,976
== 268,422
05 21t =S 970,398 0 970,398
OXERIE dgel= B 373,920
= 299,136
< 74,784
OXtgEXIg dgeied HiXI(XHAl) 92,928
OXE X2 Atgh 503,550
= 402,840
=S 100,710
HE delX=dE 22 185,374 161,870 3,504
= 77,687
< 77,687
307 gl2to| & 185,374 161,870 3,504
= 77,687
= 77,687
1 AMISXAEEX 185,374 161,870 3,504
OHE delXzdE 23 185,374
= 77,687
= 77,687
OlSSHERl elZet DIseEd 49,343 7,000 42,343
= 28,265
== 21,078
402 2I2FX+=01 & 27,780 0 27,780
= 13,890
< 13,890
02 QI XHE AL E R (01X THE) 27,780 0 27,780
OotseHtHg X elZet JIsE2(XA0sSE
SHEEIIZ) 27,780
= 13,890
= 13,890
403 AXIEHHSAH=0l 21,563 7,000 14,563
= 14,375
== 7,188
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2A:

=2 SHMD)

ool

g OlIs=Asd
&Rl Olssley ZEHE X CHe M)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
01 AXISHHA =22 & 21,563 7,000 14,563
Ootss Al 21zl
SaH 21,563
= 14,375
< 7,188
gAtaiots 25Hl AA 37,920 37,920 0
= 33,600
= 4,320
301 22N = 37,920 0 37,920
= 33,600
= 4,320
01 A2 HSHS(RDEEM 37,920 0 37,920
ogdiiaots 2=t 37,920
= 33,600
== 4,320
orsstdg2 202 843 100,000 100,000 0
= 50,000
= 50,000
307 21201 & 100,000 100,000 0
= 50,000
= 50,000
02 LB HANHEE 100,000 100,000 0
O0tssttHE g2 2] 100,000
= 50,000
=S 50,000
Hees(SXNEsHH) 61,102,287 62,100 61,040,187
HIE(EXNESHAD) 393,600 62,100 331,500
N (Sa=8712 e 393,600 62,100 331,500
311 XL =0lArare 393,600 62,100 331,500
2 Sst=8J12xL=s 393,600 62,100 331,500
OUETHA=0IE 110,400
OEgs0ISe kA 283,200
HRAHKE (SN ESFH D) 60,708,687 0 60,708,687
ol2g0l=s SEH d&s 60,708,687 0 60,708,687
701 JIEtRI NS HES 60,708,687 0 60,708,687
01 JIEt=I AN ES 60,708,687 0 60,708,687
Olzsdlis SE2IH 60,708,687
HY2IIH(SNESZAML) 241,571 90,707 150,864
= 91,301
== 150,270
ARGHI(SAZSHZCIAL 114,127 0 114,127
= 91,301
< 22,826
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SN SXPEZUD
M HHPAZH(SXNESZ )
Sl A2 AHI(2AZSHRACIAL (S & 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A ZRIEEHADNE (& 2SS0 22(A 114,127 0 114,127
= 91,301
== 22,826
101 @12A4H| 102,485 0 102,485
= 81,987
< 20,498
03 SRA(RIH )22 U2+ 102,485 0 102,485
Ok 22350 2c|At Q12| 102,485
[ 81,987
= 20,498
WM HsFEE=S 11,642 0 11,642
= 9,314
=S 2,328
04 R (RIHA)22N BEESRES S 11,642 0 11,642
Ok == 2A UH2E JI2ARES 11,642
= 9,314
[ 2,328
Jl2ZH(EXEsE D) 127,444 90,707 36,737
Jl2ZH(EXESEM) 127,444 90,707 36,737
201 fer=3| 57,600 39,100 18,500
01 AtR2t2|HI 57,600 39,100 18,500
O=NESEM A22elH| 57,600
202 04| 54,400 37,927 16,473
01 SLHoIH 54,400 37,927 16,473
OsX2sd ol 54,400
203 HRP=H] 15,444 13,680 1,764
01 D[22 HRFa| 10,800 9,900 900
OsXed g2=a 10,800
MU FA2SHIFII 4,644 3,780 864
OSNESHY oz 4.644




